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SRS W¥T / Objective Type Questions

vy qET I#BOWaﬁﬁwmfls?ﬁ#ﬁFb’?40me3m&
gele v & W AR faweq g g § ford @ o w31 99 am
ag e & OMR Ve wv fafgaa &%) 40

Question Nos. 1 to 80 are of objective type. Answer any 40 questiong
question has four options out of which bnly one is correct. You hg

" mark your selected option on the OMR sheet. 40x |

1. g d i w9 A e gan A graw gam s i feafa o

(A) fedtsfifemd (B) wa-uftem fewm #

(C) SW-Igwfamd - (D) A & H13 T

A horizontal magnet hanging freely in air always comes to resti

(A)  Any direction .(B) East-West direction

(C) North-South direction (D) Noné of these .
2. #&@ﬁgﬂﬂm@m%mﬂmt@m%,ﬁaﬁmaﬁzﬁ

A) e anft (B) mﬂmﬁéﬁaﬁﬁ

(©) Féfm 7 g D) AW

If a compass is placed near a wire carrying electric current, th
the compass needle

(A)  Will be deflected

(B)  The current carrying wire will be deflected

(C})  Will not be deflected

s O, None of these
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() Frga g S (B) g swwe & Fram
(C) (A) 3R (B) B (D) % & F§ TE
Farnday rfmdc manj; revolutionary discoveries, including
(A) Electromagnetic induction |
(B) Law of electrolysis
(C) Both (A) and (B)
(D) None of these
foega W aiafa & @
(A)  TETERE Sl ® faga sl §
B}~ Taga =l 9 gifys sl &
(C) Titys ot = fge =i &
(D) T ot ) et i
An electric motor converts
(A) Chemical energy into electrical energy
(B) Electrical eriergy into mechanical energy
(C)  Mechanical energy into electrical energy
(D) Electrical energy into éhcmica] energy
wif & 9w g Faw § @l e B w6 e g
»” gy &3 ) fm
(B) ok W e faega @= ) Ren
() - mlﬂmﬁaﬁl@ﬂmtﬂﬁm
(O) v A w T
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In Fleming's lefi-hand rule, the index finger of the left han

indicalcs

(A) Dircction of magnetic ficld

(B) Direction of clectric force applicd on the conductor
(C)  Direction of clectric current flowing in the conductor

(D) Nonc ol-thesc

6. [l 9 AN A faga um yarfa w3 woan & Fw g A9 fem gew
quhiy fa A AR € 2

(A) faolia won & (BY FUH THN &
€) el ) worm & (D) FH @ HI§ T

When electric current flows through a conducting wire, what typ

of magnectic ficld is gencrated above and below the wire ?

(A) Opposilc typc (B) Similar type

(C) Not of any kind (D) None of these
7. 9 faga Fat e yen & i Gia @ ?

By Twefg (B) IR

(C) (A) 3R (B) 3 (D) ¥ & &K T

What type of cnergy sou:'cc is hydroclectric encrgy ?

(A} Renewable (B) Non-rcnewable

(C)  Both (A) and (B) (D) Nonc of these

BRI SEN _
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g, wr-d fru A Sww & fg s f o

L (B) @A BETEFS
o) R (D) Al A ik T

Which gas is responsible for global warming ?
(A) Nitrogen (B) Carbon dioxide
(C) Oxygen (D) None of these

9. R w wifha e

W mEma (B) TFAR

(€ v zHiaa (D) mE A

Bile juice i.s secreted by

(A) Oral cavity -(B) Liver

(C) Small intestine (D) Stomach
10. &z ¥ fRya wigk &1 1 w1 g @ ?

(A) I JEEG T

(B) UMY & HaAg HABe HHI

(C) HAaYEU] 1 Fadl HIBeI TGHI

(D) ¥ A HE TE |

What is the function of the villi located in small intestine ?

(A) Blocking absorption

(B) | Reducing the surface area of absorption

(C) Increasing the surface area of absorption

(b) None of these

— ———— -
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11. gagslamﬁwmna 1
(A)  TTEEd (B) u&l
€ e (D) 3=

The posterior part of the oral cavity is

(A) Esophagus (B) Pharynx
(C) Duodenum (D) Pancrcas
12. &gl ararE @ SR § sfefes w1 e i FEE st @
T HEeAAl &
(8" TG - B
(C) Fa-yawE (D) ¥ I F§ TE

The transfer of Ozfrom outside environment to cells and removal ¢

CO, is referred to as

(A) Exhalation (B) Respiration

(C) Inhalation (D) Noneof thcsc‘
13, SE-GTENO § o W g 9

(A)  woieR@ (B) CO,

,(g/ £ (D) R St

The basic source of oxygen in photosynthesis is

(A)  Chlorophyll (B) CO,

(C) Water .(D) Solar energy

Lss/A/613 Page 8 0f 3
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14. ¢ ﬁq%m ﬂ ﬁ;a aﬂﬁm &l 'mf Hﬁl' a' L i‘i EE] AN p_ ?

» ATP (B)  ADp

(c) DTP (D) . ol A s

Which of the following is known as the 'energy currcncy’ of the
cell ?

(A) ATP (B) ADP

(C) DTP ' (D) None of these

15. URY § g Jnierd
(A) WI9A w1 T & for (B) ifedisd @1 Ted + ferg

(C) mmﬂaﬁq,%m”/ araanagqa;fi:{g

Xylem in plant is responsible for

(A) Carrying of food (B) Carrying of oxygen

(C) Carrying of amino acid (D) Carrying of water
- 16. e & ST o 3 Preferiaa o F o 9 § 2
(A) ¥¥d T ST (WBC) (B) T T HIREHY (RBC)
(C) T ufEHm (D) FHA WA

Apart from plasma, which of the following is found in blood ?

(A} White Blood Cells (WBC)(B) ~ Red Blood Cells (RBC)

(C) Blood platelets (D) All of these

a1t 1 refta forera forega 1 W U R, RIS It e
(A IEPAdWR (B) foc g
Lo v dm (D) ¥ A B

s e |

17.

| mnia tz21n I Daca N _r Aan



18.

19.

20.

An aqu"UHu s . i o

water
(A) gcts ionized (B) is solublec

(C) 1is insoluble ' (D) none of these

Prerferiea ﬁ & 917 1\ §=F (olfactory indicator) T 27

(A) @& dad (B) aFen

) THEHS (D) ¥ a@h

Which of the following is not an olfactory indicator e
(A) Clove oil (8) Vanilla

(C) Sweet potato (D) All of these

St F <% F H-a1 3 T @R ?

(a) Tafew ov @) TifR® I

(c) BEHEIEE I (D) T A BT
Which acid is found in ant sting ?

(A) Citric acid ' (B) Acetic acid

(C) Methanoic acid (D) None of these

Eryiftea 1 Reaw) v gaIH wa 8 ?

a) A GERE H (B) I ERERE R

(c) I & (D) TiUS W

Which of the following is kept immersed in water ?

(A) White phosphorus (B) Red phosphorus

(C) lodine (D) Sulphur




m [ 112

o1 e A aghe % w d sefm e wrem ¢

(A), U B)  Iurh (i)

) @ (D) ¥ A B 7

The substances, present as impurities in on ore, are called
(A) Slag (B) Gangue

(G) Mineral (D) None of these

22. Prifea 4 form urg =t 91 @ anerh & wrer w1 @war 2 2

{8} Na (B) Cu
) Ni (D) Al
Which of the following metals can be easily cut with a knife ?
(A) Na (B) Cu
€) Ni (D) Al

23. AN F RR-H urg fremst Rovg dar ) 9 2 -
(A) Fe (B) Cu
(C) 2Zn (D)  Ag

Which metal is mixed with gold to make an alloy ?

(A)  Fe (B) Cu
€) 2n (D) Ag
24. fofowt R w
(A)  Hurg (B) wig
(C) Prorurg (D) Iy
1¥<3re1a
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25.

26.

rYs

| | 11
Siliconisa/an 2

(A) Non-mectal

(B) Metal
(C) Alloy (D) Mectalloid
Q& IRER TE I e 2
(A) WgH A (B) wWoeh i
S (© uehd (D) wFen
Double circulation is not found in
(A) | Frog (B) Fish
(C). Bird . (D) Human
R A wgl A AU R R ?
A) T=ma B) w1
© wpad D AW
From where does urea enter the blood ?
(A)  Kidney (B) Lungs
(C) Liver (D) None of these
IS I TREE Fgl 2 R P
(A) PCT# (B) DCT#
(C) ¥« o9 D) wHA®A
Where does glucose reabsorption occur
(A) In PCT " (B) InDCT
(C) In Henle's loop (D) Al of these

SS/A/613
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(:mmﬁ%mﬂmmﬁmamm%m

/

Wﬁﬂ , (D) o

The mechanism (or removing harmful substances formed as a
result of various activities from the body is called

(A)  Digestive system

(B) Circulatory system
(C) | Excretory system (D) Nervous system
20. WR ¥ U@ A TR wHa 0
(A)  dm (B) dves
©) =g (D)
What can hap-pcn due to spinal cord injury ?
(A) Goitre (B) Dwarfism
(C) Diabetes (D) Paralysis
. T TR R T A
A e B}~
) e (D)  r=mm
The largest gland in the human body is
(A} Adrenal (B) Liver
© Ovary (D)  Pancregg
SEDIVEY|
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31. Y B FEE &

(A) (B) WA

(C) TaTEH (D) %9 A FE T
Plant hormone is ca]lcd.

(A) Phcro.monc (B) Phytohormone
(C) Enzyme (D) None of these

32. il gr1 iR yadw %1 seEm 2

(A) @& ' (B) 3w
(C) 7o (D) WHEIEEEH
An example of vegetative propagation through lcaves is
(A)  Onion (B) Potato
(C) Rose (D)  Bryophylum
33. W wHE g £ w@ wme pA), @
(A}  f+P=0-5 (B) fxp=]
€ P+f=1 (D) Pa+f=2

If the focal length of the lens is fand Powcr is P then

(A} f+P=0-5

B) fxp=1
(C) P+ f=] (D) Ps+f=2
34, %ﬁmaﬁq—mmaﬁ@’i%iﬁmﬁmmm%?
(A)  TR® (B) g
€ feeq
ST —=

Page 14 of
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Which part of camera acts like the retina of the cye ?

(A) Apcrture (B) Lens
(C) Film (D)  Shutter

35 T e gEE 3 % fore e -Rrg o - s 9 8
(AL—0 W HAd (B) 25cm W 250 cm
(C) 25cm W@ 3Fd (D) O 25cm

For a healthy human eye, the near point and far point are

respectively
(A) 0 and infinity (B) 25cm and 250 cm
(C) 25 cm and infinity (D) 0and25cm
%. TEM W 3 Haiw e N v vdia g @
(A) <= (B) Hien

(CVﬁF" (D) I

To an astronaut standing on the moon, the sky appears to be

(A) Red (B) Blue
(C) Black | (D)  White
37. ¥ ) geeE- g F4 {9 ¥ I e
(a) -3k A B) -3 g
© fee-gfe D) =
The decreased accommodative ability of the €ye causes
(A) Farsightedness (B)  Presbyopia
(C) Nearsightedness (D) Colourblindness
| SS/A/613 Page 15 nran




38.

39.

40.

41,

frl) s ) Sfusa &1 e R '

(A) Qm B) Q/m
©cF o (D) 3T A T T
The unit of resistivity in a conductor is

(A) Qm (B) Q/m

c (D) Nonc of these
1 5 8 et Sed g R 2
(A 023 (B) 0-19

€ 021 (D) 0-25

How many calories arc there in 1 joule ?

(A} 0-23 (B) 0-19
(C) 021 (D) 025
ﬁgﬂﬁﬁtﬁmﬁzﬁwﬁfﬁﬁﬁﬁmu@mmiﬁm%?
(A) @@ (B) Tegdifrm
(C)— TTRA (D) @
The filament in an clectric bulb is made of which of the followr
mctals ?
(A) Iron (B) Aluminium
(C) Tungsten (D) Copper
fpgirrae § 87 arel aREda F FRd @
A) fafaua (B) 3T
(€ waf (D) ¥ & HR TE



-- - - v

(A) Diversity (B) Qermination

(C) Puberty (D)  None of thesc
42. Frafafem d ®17 wiEn faem @El 3 s o omh agm g 2
(A) TEWW B) Hm
€ WA (D) v A wh
Which of the following is an effective measure used in family
planning ?
(A) Diaphragm .(B) Condom

(C) Copper Tand loop (D) All of these
13, werfawy oY R ?

(A)  wafd & F & Uit 1 3
(B) wafa & Jhl & Uil &1 7

(C) ﬁaﬁﬁqﬁvﬁ%gﬁmm,@mﬁqﬁ%
(D) % q oft

What is the meaning of atavism ?

(A) Inheritance of parental characteristics in progeny

(B)  No inheritance of parental characteristics jn progeny

(C)  Inheritance of ancestral characteristics in pro

geny, which are
not in parents

(D) Al of these -
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aq. fd) sa A W G Frem 2

(A) ¥R (B) firerzy
() et (D) e
The genetic structure of an organism is called

(A)  Phenotype (B) Genotype

(C)  Heredity (D) Diversity

45. Wigfow 99 g1 Al & R wgemar 2

(A) HSEER (B) WA

€ 9= wm (D) wifdar]

The evolution of organisms by natural sclection is called
(A) Mendelism (B) Lamarckism

(C) Micro-development (D) Darwinism

46. % s wefifa w01 wen @A R

(A) CFC (B) ADP

(C) ATP (D) DDT

The chemical which shows biomagnification is

(A) CFC (B) ADP

(C) ATP (D) DDT

SS/A/613 Page lSﬂ
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P ot e e

(A)  HYETH (B) waferl)

(C) wmETERl (D ITHTE

Primary consumecers are called

(A) Decomposer (B) Omnivorous

(C) Carnivorous (D) Vegetarian
48. CFC % 9% 393 g 2

(A) I g H (B) GhwitE d

(C) T HIATN (D) & & @ft

CFC is widely used in

(A) Jet engines (B) Relrigerators

(C}  Air conditioners (D) All of these
49. = % T guraadt dva § 2

Aa) 2 (B) 3

€ 4 D) 5

How many isomers of butanc are possible ?

Ay 2 (B) 3

c 4 (D) 5
50. il F 3y #1 owER B R

A) THEE (B) SEETHR

(C) WWEgTRTTHE (D)  ewedi

SS/A/613 Pee———
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S52.

S3.

The shape of methane molecule is

(A) Lincar (B) Annular
(C) Tetrahedral - " (D) Octahedral
wifrs D! § w A dairawa B 2

A 1 By 2

€ 3 (D) 4

The valency of carbon in organic compounds is

(A) 1 (B) 2
c 3 (D) 4
ﬁWaﬂi?amaﬁqnumﬁﬁmia%1>
W W S S
(C) YewmA (D) ¥ & i T
Which of the following is saturated hydrocarbon ?
~ (A)  Alkane (B) Akene
(C) Alkyne (D)  None of these
Rrefs %1 IUPAC 3
(A) &= (B) wurH
(€ wfF | (D) ¥ 3+ 7
IUPAC name of ethylene is
(A) Ethane (B) Ethyne
(C) Ethene . (D)  None of these

SS/A/613
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54,

dgels A arad wmof @) v wi w=n o) o

(A) TR = g wm ol 2

(B) Cl®) 3fa wm 3 20

(C)  ®gA F) Ifm wm 7@ ¥

(D) ¥ & = 7

Which was a defect of Mendeleev's periodic table ?
(A) Not giving proper place to oxygen

(B) Not giving proper place to Cl

(C) Not giving proper placc to hydrogen

(D) None of these
MWﬁwﬁﬂﬁ?mﬁﬂﬁm%mnﬁvﬁaﬁWW?

[112]

59
(C) T A (D) SRTER
Who among the following propounded the laws of octave ?

lands
(A) Mendeleev (B) Newian
(C) Lother Meycr (D) Dobereiner
?
se. Frafiiea # & ¥ s a8 afftrs &R g
o ) éo ' (B) NayO
(A 2
D) NO,
(C’ Mzoa ( t basic ?
f the following compounds would be the mos
i the
Wwhich o o a0
SO
» : (D) NO,
) Al203 |
Page 21 of 32
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57.

S8.

S9.

Rroil % WIE ) FEa &

(\) ST (B)
€ (M 3 (8) 3 (D)
A group of rays is called
(\) Light bcam (B)
(C) Both (A) and (B) (D)
warn & el me e §
(A) et oft fon o (B)
oy e (D)
The light rays travel in
(A) any direction (B)
(C) a straight line | (D)
Hgaet g4 R wHR +1 g g ?
(A) gErh _ (B
(C) el awr Jmal @41 (D)

frn q=
T | HIS AE

Ray beam

None of these

et T 4
i @

oblique line

none of these

it
¥ A w3 TE

Which type of mirror is a concave mirror ?

(A) Divergent

(B) Convergent

(C) Both convergent and divergent

(D) None of these

60. R A ¥geee ¥ Prefiian § A Rew wer % i w1 9@ Rea <

(A)  IF (B}~ 3=q Tdu
(C) u¥aw 29u (D) %9 § ¥ 3
SS/A/613
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62.

63.

. 112
:'f:l:h of the following lypes of mirror is used in '(hc hcad]igl'nt of :
(A)  Convex mirror (B)  Concave mirror
(C)  Plane mirror (D) Nonc of these
AT T R B 20 B
(A) YETIHw +BI” HUES
(© (A) 3K (B) A D) T A w7
The focal length of a concaye mirror is
(A)  Positive (B) Negative
(C) both (A) and (B) (D) . None of these
FecmammsgAdasiimemes
(A) aEE (B) wudd -
(Y Iua (D) ¥l & w7
Which mirror always forms an image smaller than the object ?
(A) Concave (B) Plane
(C) Convex (D) l.\lone of these
ag # wera ) =9, Fafa # ada ad 2
(A~ ¥ (B) @I
(C) wWA (D) ¥ A % i
The speed of light in air as compared to vacuum is
(A)  Less (B) More
(C) Same , . (D) None of these

CFETEL T - 7]
PARTELL ) .Page 23 of 35




64.

e g eRfa FR-w e ani A Ruferee A weRia g @ 2
(A) T (B) avi-fagqu |
(C) vl . ADY” A

Which phenomenon exhibited by light is demonstrated in the

twinkling of stars ?

(A) Reflection | (B) Dispersion
(C) Scattering (D) Refraction
65. Feqmy A g @ o i fRa 2 2
A) wARE (B) dfreTg
(C) IWM WH (D) TR
In which state is the Kalpakkam Nuclear Power Plant located ?
(A) Karnataka (B) Tamil Nadu
(C). Uttar Pradesh (D) Gujarat
66. W M (LPG) %1 W@ Ha4a ?
L A) TN (B) WNR
€ = oy fdm
The main component of domestic gas (LPG) is
(A) Ethane (B) Propane
(C) Butane (D) Methane

67. FAl F QA ARG B §

(C) tawm T ¥feram O TAAE



The two non

“ren
cWable sourceq of energy ar (112
(A)  Gobar gag and biomgas e
(B) Coal and Petroleum
L ©

Biomassg and Pctroleum

| (D) Nonc of thege
68. YT TR YR A i 4

(A) EIRA
: (B) I9=gq
(C) FwTYIH e
Which type of reaction is respiration ?
(A) Combination (B) Reduction
&) Endothermic (D) Oxidation
69. FOIHIH ¥ TWHRY A T Ak wgemd
(A)  FEES (B) Wewdrh
(C) < wEsh (D) ¥ A A T
.Cornpounds formed by transfer of electrons are called
| (A) O;-ganic , () Covalent
(C) Electrovalent (D) - None of these

70. m'mﬁﬂamwﬂmm@mh

(A) Hp +Ip 2HI

(B) NH,CNO-»HNCONH;

(C) NaOH + HCl- NaCl + HpO

(D) 2KClOz—+KCl +302

—

5 | ——— -, P =2 v
*:"L'&S/Mis‘fs | Rabeat i




which of the following reactions is an example of decompositio

reaction ?
(A) Hjp +15 — 2HI
(B) NH,CNO-»H,NCONH,
(C) NaOH + HCl- NaCl+H,0
(D) 2KCIO; -KCl +30,
71, Frtafen § fre aéfe svt arn s @ 2

) E (B) e
(C) T (D) fwm
In which of the f;allowing is tartaric acid found ?
(A) Orange (B) Tamarind
(C) Tomato | (D) Vinegar

72.; {9 T A H TEERE T 1R ? |

€ ¥fRmm e (D) ¥fwmw wTEEEEEE
What is the chemical name of slaked lime ?

(A)  Calcium oxychloride. (B) Calcium chloride

(C) Calcium oxide (D) Calcium hydroxide
73.  Affrm anad wwoh ¥ fre g W wem 7

(A) wEVII® (B) WHEI®

(C) wqEn (D) JuIg TS+

W wricemappas

LSS/A/613 Page 26 of 3.




Magnesium is o member of which RFOUP of the perindic 1able |?1 12 |
(A)  Group Vil (B) Group |
(C) wroup 11 (D)  Nonmetallic clement
74,  rad quell § e avad €
(A) 12 B) 9
(C) 8 D) 7
How many pcriods are there in the periodic table ?
(A) 12 (Br 9
€ 8 D) 7
75. frafafea 8 ®59 @ daga f g a2 2
(A) T (B) T
(C) sua= (D) ¥
Which of the following is not an ancient method of water
harvesting ?
(A) Katta (B) Kulh
(C) Dug well (D) Irish
76. Re@sufminwm st@em w?
(a) faereh Iee (B) Wi f=rd
(C) e yfd Dy 3 wh
What was the objcctive of construction of Tehri Dam ?
fA) Electricity generation  (B) Land irrigation
(C) Water supply (D) All of these
Y74, 653 Page 27 of 32
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aqfre waua ) 3§ auren 7 R ?

77.
(A)  FAIwEm : (B)  T=HT
c) D) ¥ 8 wf)
What is the new concept of waste management ?
(A) Reusc (B) Recycle
(C) Reduce (D) All of these

78. Prafife d Fdfiwefn gavma R 2 2
(A) ®Een (B) =4
(C) ¥ferm (D) wd A Fr§ T
Which of the following is a renewable resource ?
(A) Coal (B) Forest
(C) Petroleum (D) None of these

79. F=fafes § a1 arive +1 ger aes R 2
(A)  FTE SATFETES (B) ETIZIN WEHIES
(C) SEarS 4B fdm
Which of the following is the main component of biogas ?
(A) Carbon dioxide (B) Hydrogen sulphide
(C) Water vapour (D) Methane

80. UfR® =R B GFar R

(A) 9 WSH @1 @ (B) WM WisH @1 &

(C) FATAEWEE (D) i3+
Peptic ulcer can be caused by
(A) Eating less food (B) Eating normal food

. (©) Prolonged starvation (D) None of these
' N\

Page 28 of
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! ' Wue - 4 7 BECTION . g
Wifirs WA / Phyaics
Y IWIT W / Short Answer Type Questions

W7 Wear 17 8w wy ywdty &) yd | At 4 vt
. e 2 3w P 1 b ——

Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions.

Each question carries 2 marks.,
A TR A i 2 qeeh e w5t
Why do planets not twinkle ? Explain.
2. Py smadvis R g € 7
‘What is called absolute refractive index ?

g QTR ?

What is farsightedness ?
4. Torga g o & 9 T wHFA € ?

~ What do you undcr_stand by electromagnetic induction ?

S5 g it Ri @I ?
’ Why is inert gas filled in electric bulb: ?
' 6~ Prvaio § 9 v @ € 2

What do you understand by potential difference ?
7. s mTmimtRERE

What is cajled the best source of enérgy ?
| B /) 1 R ? S T IR ?
|

What is dynamo ? What is its use ?

4x2=8

SS/A/613
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did 39fia W / Long Answer Type Questions

gy gt 9 Ik 10 3 It sy &1 g @ Frell v &1 IO T 1 ARE oy
*WGWMW#I Ix6=g

Question Nos. 9 and 10 are Long Answer Type. Answer any one of them,

Each question carries 6 marks. ]l x6=g
8 gl w € ? 78 e yR % ¥R € 2 e P &2 fem s 2 o

What arc dcfects of vision ? What are their typcs ? How are the
defects resolved ?

10. =AW gEa ) gee 3 wrifaiy & vl «={)

Describe the structure and working method of a biogas plant.
€A ¥ /| Chemistry
Fl'q' IA0T W9 / Short Answer Type Questions

WA TR 11 A I8 I AN FH AT 4TS WIS &
fg 2 o fuifew ¥ 4x2=8

Question Nos. 11 to 18 are Short Answer Type. Answer any 4 questions.
Each question carries 2 marks. 4x2=8

11,  vEEt® gfieo @ TH 1 9l 91 gEsi w fad)
Write three information obtained from chemical equation.
/{. i e 1 e Rrer i &1 w2
Why is an aquec;us solution of sodium carbonate alkaline ?
)8, GEHIR? @ G W am ford)
What is an indicator ? Write the name of an indicator.
14, W] UE A § ¥ AW R ?
. What is the difference between an atom and an ion ?
| 5. o w1 sfonfua Hi

Define ores. —
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16.. awniaﬁmgqmmmﬂ'ﬁhmt'

Why have detergents replaced soap ?

/ﬁﬁamiuamﬁﬁﬁ?

What are fossil fuels ?
18. e Jofl F @Y W@ A rrad A 9w wwed § o

What do you understand by short and long periods of periodic
table ?

(112

€id I W / Long Answer Type Questions -~
W¥T WAl 19 @ 20 ¥ Iwtiw §1 i @ et g @y 3T &1 AHF 0T &

forg s siw Fraifea &1 1x5=5
Question Nos. 19 and 20 are Long Answer Type. Answer any one of them.
Each question carries S marks. lx5=5

A9~ vifew i temafie o F anun @ urg @@ v § s e Wi
Differentiate between metals and non-metals on the basis of
physical and chemical properties. https://www.bsebstudy.com

20. FWi-He T R ? YEH WA & T w1 IP@ F
What is energy crisis ? Mention the measures to resolve it.
| e famm / Biology
g AT WY / Short Answer Type Questions

Ty woAr 21#23?5@3379&#:3##7%# 4wyt & gav &) udw gV
& forg 2 3w Fraifie #1 4x2=8

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions.
Each question carries 2 marks. 4x2=8

217w & SR PR & R

-1 _ Wudiie the names of four organelles of a cell.

SS/A/613
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v ) gftur 2

Define respiration.

e Y e § i R P

what is the difference between xylem and
ﬂﬂ“ﬂﬁ?wﬁﬁma&rﬂ%m%ﬁl

What 18 excretion ? Write the names of its tw

geFTaTAEA ¥ 8 ?

What is phototropism ?

phloem ?

o main parts.

3 R ORORE

26. GO FNR?
What is pollination ?

27. Dnamﬁmmma,ﬁ?
How is DNA the basis of heredity ?

08, YUETA @A * TSNS IWTE T g2
What are the harmful effects of acrosol chemicals ?
¥4 3ada W¥7 / Long Answer Type Questions
gy WoaT 29 U7 30 I gwdiw §1 yAd # fEE o & I T oy #

foro 5 3 fraffa 1 I1x5=5
Question Nos. 29 and 30 are Long Answer Type. Answer any one of them
I1x5=5

Each question carries 5 marks.
SRTIEYCY] 41 @ P @i vl
What is photosynthesis ? Describe it with a suitable diagram.

30. 3mfire gerdl & w0 H) ISR F GHHY

Explain recycling of waste materials with cxamples.
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